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(les trémolos font toujours
entendre les bruits de clés mf)
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timbré
Jjeu normal

J =76 (harm. sup.)
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) o—»+ - - o T e = A

4 T " T 110> - N A7 LV - N A7 |2 ——

7\ [ I [ - 1A N7 7 N7 N7 7 N7 I
[ & an Y = I | I 1Y /AR T 1Y T
SV I 1| = [ 1L 3 s | 0 & I

o b = =T 3 bv—

“ ~ e 3— 3

0= NN S L AL A =P S S OO v e LA ==
/ ™ 7 7 < < e T & v o Ke/o o/ § o N/ N7 /Ko7 KN/ v o o< </ </ 16 i -
y AT e A s A2 . S VAP YR 7 g7 g7 7 T 17— N7 1Y/ P | o7 —N7—N/ N/ 7—& N7t 7 Y7 N7/ N/7—N7/777 ﬁ%&

C o 71 T S G A i~ p A — L = <+ T o I - B I - a— PN R N
in B 7] y J | © T i -~ . S 727X SE— Li— o o) >N . <+ 1o i . aS— o >N "
— b \ e ¢ > —T = - -+ ==
<f p —mp>



